UG/3rd Sem/ECOG/G/21(CBCS)

UG 3rd Semester Examination 2021

Economics (General)

Paper Code : SEC-1
[Basic Statistics]
(CBCS)

Full Marks: 32 Time : Two Hours
The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Group-A
Answer any four questions. 2x4=8

1. What is meant by classification of data?
2. What are class boundaries?

3. What is Geometric Mean of 4, 1 and 16?
4. What is median?

5. Define coefficient of variation.

6. What do you mean by bivariate frequency distribution?



Group-B
Answer any four questions. 4X4=16

. What is cumulative frequency curve? State its two important uses.
. Show that the weighted A.M. is unaffected if all the weights are multiplied by a constant.

. A man travelled 12 miles at 4 m.p.h. and again 10 miles at 5 m.p.h. What was the average

10.

11.

12.

13.

14.

15.

16.

speed?

Find the median of 44, 16, 20, 12, 30, 34, 25.

Prove that the standard deviation is independent of any change of origin, but is dependent

on the change of scale.
Write a short note on ‘Scatter Diagram’.

Find the standard deviation from the following data -
49 63 46 59 65 52 60 54 .

If the correlation coefficient between x and y is 0.5, what would be the correlation
coefficient between 5x and -3y?

Group-C
Answer any one question. 8x1=8
A man with a monthly salary of Rs. 6400/- plans his budget as follows :
Items X Food Cloth Education Others Saving
Amount (Rs.) : 2100 600 1200 1500 1000

Represent the data by a Pie diagram.

Compute mean deviation and standard deviation of the following distribution :
Scores  : 4-6 7-9 10-12 13-15 16-18 19-21 Total
Frequency: 4 10 20 15 8 3 60 .
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